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393 |-t (BYm |85H #4 (B) 40 40 35 30 25
394 | - B BV HE | FITHS R B= 60 43 44 36 32
395 |w - B |V HER | FITHES R #2 47 35 32 21 25
396 |r - B |EYVHE | RICHES R BEHP(-) 72 65 57 50 42
T |r - b |BYHE | FITHES R BEHP (D) 80 76 56 40 40
398 | - B |FYVHE | FICHES R #4520 40 35 30 20 20
39 (e - B (YRR |FICHEAERYH B~ 60 43 40 32 28
400 | - B (R YRR | RICHELERY I w2 45 37 30 25 22
401 [w = B2 BV H@W |JICHL BRI BEMD(-) 72 62 55 37 30
402w = B BV H@W | FICHL BRI BEM(Z) 84 64 56 44 36
403 |2 H= B BV M |RICHAERY #5 AN 50 30 25 20 10
404 v Pz B BV Him |(REH B= 68 56 44 32 28
405 v - B BV Him (R EH # 42 35 27 25 22
406 v - L2 |V Him |REH BEMD(-) 82 75 60 52 45
407 (e = B2 BV Him |REH BEHP (D) 72 64 52 44 36
408 |z - B |FE VB |(REE #5B) 45 40 30 25 20
409w - B2 BV H®m |MaEHEESH B~ 72 60 52 48 20
410 (e - B2 BV H@m |aEEssg = 87 75 67 62 52
A1l [w - B BV H@m |HEEEEN BERP () 82 72 62 55 37
412|e - e |BYHe |EEESH BEHP (D) 92 77 70 50 17
43w -t |BYVH&R |MFHEEGH #4 (B) 30 30 20 20 15
Adle gzt |BYHm |HEFHED 8 B= 60 60 43 32 32
A5 e - b BV W@ |EHD # 2 55 55 42 25 25
416 (e - L BV H@m | EHE BERD(-) 52 52 40 37 37
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ATle = b |(BYH@w |3HEp 35 LER (D) 82 82 35 30 30
418w = B BV Hm |hEHEp g #5 (B) 30 30 15 15 15
419w - b |BY Hm |BEHE F~ 52 44 36 32 24
420 (v = L (B Y Higm (B F= 40 35 217 22 20
421 (v = b |BY Hm |85 BEMP(-) 47 42 35 21 22
422 (v Pz B (B Y Him |BEHE BERP (D) 68 60 48 36 32
423 e H- B BV B (B E #5 B 35 30 25 20 15
20| e - L2 | FEYRm kA B~ 56 56 36 36 36
425 |w H= B (B YV R kA w2 47 42 37 25 22
426 |w - B2 |FY H@m kA LER(-) 82 77 65 62 50
27w -t |V H® |k LER (D) 84 84 76 68 68
428 |w H= L m  |E YV Rm kA #% (B) 40 40 20 15 15
429 | = B |8V Bwm |BEEEARY B= 44 44 40 40 40
430 (v = B2 BV HR |EERAaRg F= 21 21 25 25 25
431w = B BV Rm |HEEEIGRLY LER(-) 50 50 42 42 42
432 | = B BV Rm |HEEEIGLY LEHP () 62 62 60 60 60
433 |z - e |BY M |EAERARY #5(S) 25 25 5 5 5
434 (v Pz B [HE Higm (R B~ 64 56 44 32 28
435 | - B |H 6B R # 50 40 27 25 20
436 v = B |H @ Higm (BRHE LBER(-) 62 55 35 30 21
437w = B2 |2 Higm |[BRHE BERP (D) 68 60 44 32 28
438 [w = B |H# Higm (R #5(0) 55 35 25 15 15
439 (v = B |H e Hig (B4 PR B~ 68 56 52 24 8
440 (v = B e |2 B Hig (B4 R H 2 57 47 40 22 20
441 (e = B |H e g |#4 R LEHP(-) 60 55 40 35 20
442 | - L |H B (B4 R BEMP () 45 35 32 30 217
443 | = B |H B (B4 R #5(0) 45 40 40 30 20
4w - 2e (e @ (TP IHEIPE Az 76 72 60 48 24
A45 (e - B (HeHm (THETIEIPg  (Ee 62 57 45 30 25
446 [r = B (HeB@m (TPLTFIEIHE | BEHP(-) 82 65 47 25 17
T e - B (HeHm (THPEIFETHE | BERP () 75 62 45 32 30
448 |m - L |Humm |(TRHTIEIHE |BFO 90 70 40 20 15
49 e - L |Hiumm (TRHITIHETIHE (W2 68 60 52 36 28
450 (w - B [HuHim |(THeIIETIy  |Ee 55 42 32 25 25
451 (m - L |Humm (TRPHITIHTIHE |BELP () 65 52 35 25 25
452 e - B |HuB@m (TRETHETIE |BELP(C) 65 57 40 32 21
453 (e p- B [HeH@m (THPLTIETIE (BFO 75 50 30 20 20
454 |w = B |Hu e |t RS 64 64 48 40 40
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455 e - B M e |01 < 50 50 40 25 25
456 |m 3= B |HEHm 1w LERD(-) 75 75 37 35 35
457 |2 - b |[Hethem |1 LEMP(Z) 72 72 67 52 52
458 |m3t- B |HEHm 1w #5 (C) 85 85 40 25 25
459 e p- L (HEHm |4 AREAHE G 68 64 60 52 32
460 |2 3= L [HEHm |2 AREAHE E 42 42 37 37 25
461 |2 3= L [HEHm |4 AREAHE LERP(-) 72 68 56 48 44
462w - b |HEthm |2 AmERHE LEMP () 88 80 80 76 40
463 |2 - b |[Hethae |4 ABERHE 4 (C) 55 55 45 20 20
464 |2 B- b (e Hm |RPH B 72 64 48 40 32
465 |2 #- B B e Hm |RPHE < 67 52 32 25 20
466 |2 3= B M e Hm |RPHE LERD(-) 80 68 48 36 28
467 |m3t- ke |HRHBR |[RH LEFD (D) 89 81 63 50 36
468 |m d- B M e Hm |RPH #5 (B) 50 35 30 25 20
469w 3= B |36 e |1 sy R 28 28 28 28 28
470 |w - B B 6 Hae |1z g #2 20 20 20 20 20
ATL|w 36- B |36 Hae |1 es 8 ey LERP(-) 25 25 25 25 25
472w 3= B |36 Her |1es d g LEMD (D) 20 20 20 20 20
4T3 3= B |36 Her |1es d g #%(C) 20 20 20 20 20
AT4|w 3= (R et pirodms R 68 64 52 36 28
AT5 |- b |(Hethm PEsFnH E 57 52 37 27 25
AT | - b |(Hetm PEsFRHE LEFD () 85 7 67 55 40
AT (e 3t- B (fethem piosms LEMP () 75 57 42 30 21
48| - b |(HeHw PEoFRHE #5 (B) 60 45 30 20 15
AT9 |2 B- B (B W Hie |l sy B 80 56 44 32 8
480 |m #t= B [H @M |l gy # 85 37 30 22 17
481 |r = B [H U Hm |2 g ETeay LED(-) 92 80 68 44 20
482 |m 3= Bl |H R Him s gEma LERD () 85 80 1 60 55
483 |m - B [H 6 e (et BT # (M) 80 55 30 20 20
B |rp- b |[Hehm |8 5H m 64 60 44 32 32
485 | H- b |[HEHm |8 &5H E 42 37 30 22 20
486 | - L |HEHm |85 LEMP(-) 75 60 35 32 27
BT |ep- b |[Hehm |68 5H LEMD (D) 70 60 40 22 22
488w - B e |HEthm |65 4 (B) 45 40 25 20 15
489 |m 3= b |H 6 Hire | pocR s BT B 48 48 32 28 24
490 |2 #- B [H 6 Him | FocH s B s 42 37 30 22 17
491 |3t Rl |H R | FIH S R LERD(-) 70 62 45 35 30
492 |m $e= B (B @ Him | RocH % R LERD () 68 52 44 32 24
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493 |2 H = &} Hi e | RICH Y g =g 40 40 25 20 15
494 (v = B 4 His s | RICH L ERY 8§ B~ 56 44 32 20 16
495 |z H = B4 His s | RICH L ERY 8§ ' 55 47 30 20 20
496 |z H = & 4 HuW s | RacEFERY N EEHP(-) 62 57 45 35 25
497 v H = & & Hi s |RITHEL ESRY EEHP(2) 76 60 48 40 28
498 |w - B |H g |RICHA LR w5 (L) 40 30 25 15 10
499 (v H = & & Hi g |BEH R = 68 68 48 36 32
500 |= = B4 Hofhm |BEFE B2 55 50 37 30 25
501 (e - B |Hulm |REH LEHD(-) 77 7 60 45 45
502 (= = B4 Hi g |BEHE EEFP(Z) 2 64 56 40 36
503 | H = & 4 HErmem |(BEE 4% B) 55 50 25 20 15
504 (e - L |Hum |(tadEEayg B2 72 60 52 44 28
505 [z H = % 4 Humm |MEFHERE8 e 80 75 65 52 37
506 |z $ = % 4 Humm |MFHEEg EEHP(-) 82 65 60 47 40
507 |z = % 4 Himm |PEEEEH EEHP(Z) 67 60 52 47 45
508 | H - &k Hs g | EEFg #% (B 75 60 40 30 20
509 |z H = & 4 Hois frgg |YMEFHEDPEN R = 6 2 56 52 44
510 |z 4= & 4 Hi s | HEDFE ' (6} 62 40 32 17
511 | 4= & 4 His frgg |YMEFHEPEN EEHP(-) 82 80 70 65 52
12 |m = % 4 H i e FIEEEP RN EEFP(Z) 92 87 (b) 62 60
13 |m = & 4 H 6 e PIEFP RN #% (B 55 40 30 25 20
Hl4 |m = % 4 His g |BNHE R = 48 40 32 28 20
515 | H = % 4 His Mm | E 37 32 27 22 17
516 |z H = % 4 Hu s |[B%E EEHP(-) 45 37 30 25 20
517 | H = % 4 Hu s |[B%E EEHP(Z) 60 52 40 28 24
518 |z H = & 4 Hu s (B % (B) 40 30 25 15 15
519 |z H = % 4 B R | EEERARGE ER 84 56 48 40 36
520 |z $ = % 4 B mm | REERARGE E 2 62 47 32 20 17
521 (w B - B | ¢ B |(FEEPARE EEHP(-) 87 75 60 60 47
522 |m = B 4 HUthm |BEAEPAR EEHP(Z) 95 72 2 60 45
523 | - B |H B |EiEERARE w5 (S) 60 50 35 15 15
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